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Q.1 Aperson starting from his house covers a distance at 15 kin'hr and returns to the starting place at a speed of 10 km/hr.

His average speed during the whole journey is:
Ans 1 11 km/hr
v 212 km/hr
< 313 kmv/hr

X4 12~ km/hr

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

94891113561
94891154241
94891154242
94891154244
94891154243
Answered

2




Q.2 Which of the following Central Public Sector Enterprises does NOT have the ‘Maharatna’ status (as on January 2021)?

Ans 1. Steel Authority of India Limited
X 2. GAIL (India) Limited

< 3. Coal India Limited
+ 4 0il India Limited

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status

94891112841
94891151364
94891151362
94891151361
94891151363

: Marked For Review

Chosen Option : 2

Q3 Which of the following rivers is a part of National Waterway 5 (NW-5)?

Ans 1. Godavari

< 2. Damodar
7< 3. Krishna
+ 4 Brahmani
Question ID : 94891112842
Option 11D : 94891151365
Option 2 ID : 94891151366
Option 3 ID : 94891151367
Option 4 ID : 94891151368
Status : Marked For Review
Chosen Option : 3
Q4 Which of the following books is NOT written by Dr. APT Abdul Kalam?
Ans o 1. The Discovery of India
/< 2. India 2020: A Vision for the New Millennium
/< 3. Ignited Minds: Unleashing the Power Within India
/< 4. Wings of Fire: An Autobiography
Question ID : 94891112810
Option 1 1D : 94891151237
Option 2 ID : 94891151240
Option 3 ID : 94891151238
Option 4 ID : 94891151239
Status : Answered

Chosen Option : 1




Q.5 A man completes 30 km of a journey at 6 kmv/hr and the remaining 40 km of the journey in 5 hr. His average speed for

the whole journey is:

Ans o 1.7 km/hr

4
< 2 6 — km/hr
11
< 3 8 km/hr
X 4 5 km/hr
Question ID : 94891113563
Option 11D : 94891154250
Option 2 ID : 94891154249
Option 3 1D : 94891154252
Option 4 1D : 94891154251
Status : Answered
Chosen Option : 1
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Question ID : 94891113573
Option 11D : 94891154290
Option 2 ID : 94891154291
Option 3 1D : 94891154289
Option 4 1D : 94891154292
Status : Not Answered

Chosen Option :




Q.7 Under which Act were plantation labourers NOT allowed to leave tea gardens without permission?

Ans

7% 1. Transfer of Property Act, 1882
# 2. Indian Contract Act, 1872

+ 3 Inland Emigration Act, 1859
/< 4. Indian Slavery Act, 1843

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112817
94891151267
94891151268
94891151266
94891151265
Marked For Review
4

Q.8 The Hindustan Socialist Republican Army was established in 1928 at the

Ans X 1. Nirankari ground
/< 2 India Gate
# 3 Red Fort
« 4 Feroz Shah Kotla ground

in Delhi.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

94891112821
94891151284
94891151282
94891151281
94891151283
Marked For Review
1

Q.9 HDFC lends %1 million to HUDCO at 10% p.a. simple interest for three years and HUDCO lends the same amount to
Sahara States Housing Corporation at 10% p.a. of compound interest for three years. What is the earning of HUDCO in

this way?

Ans 1. 332,100
& 2 %1,33,100
< 3. 233,100
4 231,000

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

94891113557
94891154228
94891154225
94891154226
94891154227
Answered

Chosen Option : 4




Q.10 In which year did the Government of India pass the Water (Prevention and Control of Pollution) Act to safeguard our

Ans

water resources?

X 11973
< 2 1976
V3 1974
X 4 1975

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :
Chosen Option :

1 94891112835
1 94891151340
1 94891151337
1 94891151339
1 94891151338

1

Q@1 Which of the following is the Extension of Microsoft Word files?

Ans X 1. doed
< 2 deox
< 3 mwd
v 4 docx
Question ID : 94891112836
Option 11D : 94891151341
Option 2 1D : 94891151344
Option 31D : 94891151343
Option 4 1D : 94891151342
Status : Answered
Chosen Option : 4
Q.12 Select the option that is related to the fourth term in the same way as the first term is related to the second term.
Balance : Weight : : ? : Length
Ans X' 1. Gram
+ 2. Measuring Tape
#< 3. Horizontal Distance
#< 4 Centimetre
Question ID : 94891112777
Option 11D : 94891151105
Option 2 ID : 94891151107
Option 31D : 94891151108
Option 4 1D : 94891151106
Status : Answered
Chosen Option : 2

Marked For Review




Q.13 The ratio of sand and cement in a mix was initially 9 : 2. After adding another 20 kg of sand and 10 kg of cement to the
mix, the ratio of sand and cement became 4 : 1. What was the initial quantity of cement in the mix?

Ans X1 30kg
< 2 50kg
X3 20kg
v 4 40kg
Question ID : 94891113556
Option 11D : 94891154223
Option 2 ID : 94891154221
Option 3 ID : 94891154224
Option 4 ID : 94891154222
Status : Answered
Chosen Option : 4
Q14 Crocodiles have a heart.
Ans (1. gix-chambered
v 2 four-chambered
< 3. one-chambered
X 4 two-chambered
Question ID : 94891112814
Option 11D : 94891151254
Option 2 1D : 94891151253
Option 31D : 94891151256
Option 4 1D : 94891151255
Status : Marked For Review
Chosen Option : 4
Q.15 Pointing at a picture of a boy, Shreyas said, ““He is the son of the only brother of my father’s daughter.” How is
Shreyas related to the boy?
Ans  of 1. Father
/< 2. Paternal uncle
7< 3. Maternal uncle
< 4. Brother
Question ID : 94891112774
Option 11D : 94891151094
Option 2 1D : 94891151093
Option 31D : 94891151095
Option 4 1D : 94891151096
Status : Answered
Chosen Option: 3




Q.16 If “+ means multiplication, ‘=’ means addition. ‘" means division and ‘>’ means subtraction, then what is the value of
the following expression?

17 +7=27—-3x13

Ans

X217
X2 317
v 115
X4 117
Question ID : 94891112783
Option 11D : 94891151129
Option 2 ID : 94891151131
Option 31D : 94891151130
Option 4 ID : 94891151132
Status : Answered
Chosen Option : 3
Q.17 If the volume of a cube is equal to the volume of a cuboid of dimensions 54 cm, 18 cm and 6 cm, then the length of the
side of the cube is:
Ans X116 cm
< 2 12 cm
'3 18cm
X 4 24 cm
Question ID : 94891113565
Option 11D : 94891154258
Option 2 ID : 94891154260
Option 3 ID : 94891154257
Option 4 ID : 94891154259
Status : Answered
Chosen Option : 3
Q.18 : : ; 5 3
Which two fractions can be inserted between = and =3
Ans . 1 2
r R
245
. Z 5
r A=
36
v. & n
1115
. 78
K- —
9°9
Question ID : 94891113551
Option 11D : 94891154203
Option 2 ID : 94891154201
Option 3 1D : 94891154202
Option 4 1D : 94891154204
Status : Marked For Review
Chosen Option: 3




Q.19

Ans

The 100™ Amendment (2015) to the Constitution of India is related to:

.

a maximum of 10% reservation for the economically weaker sections

X 2

establishment of the National Judicial Appointment Commission

v

ratification of the land boundary agreement between India and Bangladesh

/< 4 introduction of the Goods and Services Tax

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112829
94891151313
94891151316
94891151314
94891151315
Marked For Review
3

Q20 The ‘Pen Drive’ was invented by IBM in the vear

Ans 1. 2003
v 21998
< 3. 1990
& 41988
Question ID : 94891112837
Option 11D : 94891151348
Option 2 ID : 94891151346
Option 31D : 94891151345
Option 4 ID : 94891151347
Status : Marked For Review
Chosen Option : 2
Q.21 1p which of the following elections are one-third of the seats reserved for women?
Ans o 1. Panchayati Raj
< 2. Lok Sabha
/< 3. Legislative assembly
/< 4 Rajva Sabha
Question ID : 94891112827
Option 11D : 94891151305
Option 2 1D : 94891151308
Option 31D : 94891151307
Option 4 1D : 94891151306
Status : Marked For Review
Chosen Option : 4




Q.22 Raja started a vegetable business with a capital of T4400. After few months, Ranga joined him with a capital of ¥2400.

Out of the total annual profit of 21200, Raja’s share is 2800. When did Ranga join as a partner?

Ans «14
X2
X 3

1 month after Raja started the business
2 months after Raja started the business

2 months before the end of the year

7< 4. 1 month before the end of the year

Question ID : 94891113558
Option 1 ID : 94891154229
Option 2 ID : 94891154231
Option 3 ID : 94891154232
Option 4 1D : 94891154230
Status : Answered
Chosen Option : 1
Q.23 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.
Statements:
Some fridges are machines.
Some mixers are machines.
No mixer is a fridge.
All fans are mixers.
Conclusions:
1. Some fans are fridges.
II.  Some machines are not mixers.
III.  No fan is a fridge.
Ans o 1. Only conclusions IT and III follow.
# 2. Either conclusion I or III follows.
#< 3. Only conclusion III follows.
/< 4. Only conclusion I follows.
Question ID : 94891112775
Option 11D : 94891151100
Option 2 ID : 94891151098
Option 31D : 94891151097
Option 4 1D : 94891151099
Status : Answered
Chosen Option : 3




Q.24 The Pradhan Mantri Awas Yojana — Urban (PMAY-U) was launched in the year

by the Government of

India.
Ans X 1. 2012
X 22019
v 3 2015
X 4. 2018
Question ID : 94891112840
Option 11D : 94891151357
Option 2 1D : 94891151360
Option 31D : 94891151359
Option 4 1D : 94891151358
Status : Marked For Review
Chosen Option : 3
Q.25 Aand B can do a piece of work in 6 days and A alone can do it in 9 days. The time taken by B alone to do the same
workis  days.
Ans

X112
v 2 18
<3 20
X 4 16

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891113562
94891154246
94891154247
94891154248
94891154245
Answered

2

Q.26 Aand B started a business with capital investments of 7500 and Z8000. If they withdraw from the business after 8

Ans

months and 10 months, respectively, the ratio in which they divide the profit is:

vi3:4
N 23:7
<33:5
<4 3:8

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891113555
94891154218
94891154220
94891154219
94891154217
Answered

1




Q.27 According to the Union Budget 2021-2022. what is the budget size of India?
Ans < 1. 10.52 lakh crore

« 2. 34.83 lakh crore

#< 3. 44.56 lakh crore

/< 4. 16.95 lakh crore

Question ID : 94891112839
Option 11D : 94891151355
Option 2 ID : 94891151356
Option 31D : 94891151353
Option 4 1D : 94891151354
Status : Not Answered
Chosen Option : --
Q28 Bangladesh celebrates its Independence Day on:
Ans 1. 26 February
# 2. 12 March
/< 3. 20 April
v 4 26 March
Question ID : 94891112805
Option 11D : 94891151218
Option 2 ID : 94891151219
Option 31D : 94891151220
Option 4 ID : 94891151217
Status : Marked For Review
Chosen Option : 4
Q.29 3 3 11 5 .
The greatest number among — 3150, IS
Ans 5
Kz
2
3
2. et
2
3
r g
2
11
4, ;1
4
Question ID : 94891113546
Option 11D : 94891154184
Option 2 ID : 94891154183
Option 31D : 94891154181
Option 4 1D : 94891154182
Status : Answered
Chosen Option : 4




Q30 Ty Rajasthan Atomic Power Station was constructed with the assistance of

Ans X 1. Australia
' 2 Canada
/< 3. Germany
/< 4. Japan
Question ID : 94891112830
Option 11D : 94891151318
Option 2 D : 94891151319
Option 3 D : 94891151317
Option 4 1D : 94891151320
Status : Marked For Review
Chosen Option: 3
@31 1n which country is the Wimbledon Tennis Tournament held?
Ans 1. Australia
< 2. France
+ 3 England

75 4. United States of America

Question ID : 94891112807
Option 11D : 94891151228
Option 2 ID : 94891151226
Option 3 ID : 94891151227
Option 4 ID : 94891151225
Status : Answered
Chosen Option: 3
Q32 «COVAXIN' is India’s indigenous COVID-19 vaccine developed by:
Ans x 1.
ICMR and Indian Medicines Pharmaceutical Corporation Limited
+ 2. Bharat Biotech and ICMR-National Institute of Virology
x< 3.
Indian Medicines Pharmaceutical Corporation Limited and Rajasthan Drugs and Pharmaceuticals Limited
X 4
Bharat Biotech and National Pharmaceutical Pricing Authority
Question ID : 94891112832
Option 11D : 94891151325
Option 2 ID : 94891151327
Option 31D : 94891151328
Option 4 1D : 94891151326
Status : Marked For Review

Chosen Option :

2




Q33 Which of the following are co-primes?
Ans 1. 21, 56

X 212,27
v 3 28,8l
X 4. 36,20
Question ID : 94891113544
Option 11D : 94891154175
Option 2 ID : 94891154173
Option 31D : 94891154176
Option 4 ID : 94891154174
Status : Answered
Chosen Option : 3
Q34 YWho was the Governor General of India between 1848 and 18562
Ans 1. Lord William Bentinck
< 2 Lord Minto
+ 3 Lord Dalhousie
/< 4. Lord Warren Hastings
Question ID : 94891112818
Option 1 ID : 94891151272
Option 2 ID : 94891151269
Option 3 ID : 94891151271
Option 4 ID : 94891151270
Status : Answered
Chosen Option: 3
Q.35 Ifthe side of a right-angled isosceles triangle is 2 m, then its hypotenuse is
Ans
~< ZVFET m
<2 8/2m
X3 24am
v i 2m
Question ID : 94891113566
Option 11D : 94891154264
Option 2 ID : 94891154263
Option 3 ID : 94891154262
Option 4 ID : 94891154261
Status : Answered
Chosen Option : 4




Q36 The smallest three-digit prime number is:

Ans X 1. 103
< 2 107
< 3 109
v 2 101

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

94891113550
94891154198
94891154199
94891154200
94891154197
Answered

Chosen Option : 4

Q.37 The Secretariat of the South Asian Association for Regional Cooperation (SAARC) was set up at

Ans X 1. New Delhi
< 2 Dhaka
#< 3. Islamabad
' 4 Kathmandu

in 1987.

Question ID : 94891112834
Option 11D : 94891151333
Option 2 1D : 94891151334
Option 31D : 94891151336
Option 4 1D : 94891151335
Status : Marked For Review
Chosen Option : 4

Q.38 select the INCORRECT pair of bone and related part of the human body from the given options.

Ans o 1. Carpal bone — Neck
#< 2. Ulna bone — Hand
#< 3. Maxilla— Jaw
7< 4. Patella bone — Foot

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

94891112813
94891151251
94891151249
94891151252
94891151250

Marked For Review
Chosen Option : 3




Q.39  Who was awarded the Best Actor (Female) award at the 67™ National Film Awards 2020, announced in March 20217

Ans  of 1. Kangana Ranaut

# 2 Alia Bhatt
/< 3. Deepika Padukone

#< 4. Taapsee Pannu

Question ID : 94891112806
Option 11D : 94891151222
Option 2 ID : 94891151224
Option 31D : 94891151221
Option 4 ID : 94891151223
Status : Answered
Chosen Option : 1
Q.40 Select the combination of letters that when sequentially placed in the blanks of the given series will create a repetitive
pattem.
QR_Q R Q RRQ
Ans X1 QRQR
< 2. RQQR
# 3 QQRQ
« © RQRQ
Question ID : 94891112785
Option 11D : 94891151140
Option 2 ID : 94891151139
Option 31D : 94891151138
Option 4 ID : 94891151137
Status : Answered
Chosen Option : 4
Q.41 What is the correct sequence from North to South of the following ranges of the Himalayas?
1. Ladakh, 2. Zaskar, 3. Karakoram, 4. Pir Panjal
Ans D1 1,2,3.4
&2 4213
W3 3,1,2,4
S 41,3,2.4
Question ID : 94891112826
Option 11D : 94891151301
Option 2 ID : 94891151302
Option 31D : 94891151304
Option 4 1D : 94891151303
Status : Marked For Review

Chosen Option : 3




Q.42 1f02 x32=10,73 x 41 =7 and 26 * 78 =9, then what will be the value of 33 x 287

Ans x 1. 30
X2 4
Vs 12
X 4 60
Question ID : 94891112786
Option 11D : 94891151141
Option 21D : 94891151143
Option 31D : 94891151144
Option 4 ID : 94891151142
Status : Not Answered
Chosen Option : --
B AT = ((-3) s
Ans 1. distributive
< 2 closure
/< 3. associative
« 4 commutative
Question ID : 94891113545
Option 11D : 94891154180
Option 2 ID : 94891154177
Option 31D : 94891154179
Option 4 ID : 94891154178
Status : Marked For Review

Chosen Option :

2

Q.44 K is shorter than N but taller than M. T is taller than K but shorter than N. Who is the shortest among K, N, M and J?

Ans

X1 N
X2 K
v M
X4 J

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112795
94891151180
94891151178
94891151179
94891151177
Answered

3




Q.45 IfB is the mother of C, D is the sister of C, C is the daughter of A, and E is the son of D, then how is A related to E?

Ans 1. Father’s brother
#< 2. Father
W 3 Mother’s father
7< 4. Mother’s brother

Question ID : 94891112780
Option 11D : 94891151117
Option 2 1D : 94891151118
Option 31D : 94891151119
Option 4 1D : 94891151120
Status : Answered
Chosen Option : 3
Q46 wwWhat is the value of
sin® 5° 4 sin® 10° + sin” 80° + sin® 85°7
Ans X 1.0
<21
<33
v 2
Question ID : 94891113571
Option 1 ID : 94891154281
Option 2 ID : 94891154282
Option 3 ID : 94891154284
Option 4 1D : 94891154283
Status : Answered
Chosen Option : 4
Q47 Which of the following facts about the ‘Dandi March’ is NOT true?
Ans 3 1. This march lasted for 24 days.
/< 2. It was led by Mahatma Gandhi.
« 3. The volunteers used to travel 25 miles per day.
< 4. Tt started with 78 volunteers.
Question ID : 94891112819
Option 11D : 94891151275
Option 2 ID : 94891151276
Option 3 ID : 94891151274
Option 4 ID : 94891151273
Status : Answered
Chosen Option : 3




Q48 How would you express 48% as a fraction?

Ans 12
25
10
25
11
25

Koa —

v

X 2

X 3

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

1 94891113559
1 94891154233
1 94891154236
1 94891154234
1 94891154235

Status :
Chosen Option :

Answered
1

Q.49 When 43 is divided by x, the remainder is x — 5. If x is a natural number, how many solutions will x have?

Ans o1 g

K25
<33
X4 4

Question ID : 94891113553

Option 11D : 94891154212

Option 2 ID : 94891154211

Option 3 1D : 94891154209

Option 4 1D : 94891154210

Status : Answered
Chosen Option : 2
Q.50 Find the length of the tangent from the point (2, 3) to the circle x2 + y2 = 4.

Ans x 1. 1
X2 4
X3 2
V3

Question ID : 94891113568

Option 1 ID : 94891154269

Option 2 ID : 94891154272

Option 3 1D : 94891154270

Option 4 ID : 94891154271

Status : Not Answered

Chosen Option :




Q.51 Inthe given diagram, the triangle represents female graduates, the rectangle represents self-employed females and the
circle represents self-employed persons with bank loan facilities. Based on the numbers shown in the different sections
of the diagram, answer the following question.

How many female graduates are self-employed?

Ans X115
<212
<3 20
v 13

Question ID : 94891112797
Option 11D : 94891151187
Option 2 1D : 94891151185
Option 31D : 94891151188
Option 4 ID : 94891151186
Status : Answered
Chosen Option : 4

@52 The anemometer is a device used for measuring:
Ans 3 1. cloud height

/< 2. air pressure

« 3. wind speed

/< 4. water quality

Question ID : 94891112811
Option 11D : 94891151243
Option 2 ID : 94891151241
Option 31D : 94891151244
Option 4 ID : 94891151242
Status : Marked For Review
Chosen Option : 3

@53 wWhich of the following is an example of a volcanic mountain?
Ans < 1. Appalachians

& 2 Ural

/< 3. Himalayas

+ 4 Fujivama

Question ID : 94891112825
Option 11D : 94891151299
Option 2 ID : 94891151300
Option 31D : 94891151297
Option 4 1D : 94891151298
Status : Answered
Chosen Option : 4




Q.54 Which of the following greenhouse gases is NOT included under the Kyoto Protocol?

Ans 1. Nitrous oxide
#< 2. Carbon dioxide
#< 3. Methane
v 4 Ozone
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112833
94891151331
94891151332
94891151329
94891151330
Answered

4

Q55 gelect the INCORRECT pair of railway zone and its headquarters.

Ans 1. South Central — Secunderabad
/< 2. West Central — Jabalpur
/< 3. East Central — Hajipur
+ 4 North Central — Gorakhpur
Question ID : 94891112843
Option 11D : 94891151372
Option 2 ID : 94891151371
Option 3 1D : 94891151369
Option 4 1D : 94891151370
Status : Marked For Review
Chosen Option : 3
Q56 A place where animals are protected in their natural habitat is called a:
Ans o 1. wildlife sanctuary
#< 2. biosphere reserve
X 3. zoo
/< 4. national park
Question ID : 94891112815
Option 11D : 94891151258
Option 2 ID : 94891151260
Option 3 1D : 94891151257
Option 4 1D : 94891151259
Status : Marked For Review
Chosen Option : 2




Q.57 If the HCF of two numbers is 18 and their LCM is 378, then which of the following is a possible pair of such numbers?

Ans (1. 54, 252
X 2 18,252
v 3 54,126
X 4 27,252
Question ID : 94891113549
Option 11D : 94891154193
Option 2 ID : 94891154196
Option 31D : 94891154194
Option 4 ID : 94891154195
Status : Answered
Chosen Option : 4
@58 Nfatch the following gases and their formulas.
Gas Formula
A. Methane 1..CHy
B. Ethaﬂe 2. C4H3
C. Propane 3.C4Hyo
D. Butane 4. CoHg
Ans 1. A-1,B-2, C-4,D-3
X 2. A-3,B-4,C-2,D-1
v 3 A-1,B-4,C-2,D-3
X 4 A-4, B-1, C-3,D-2
Question ID : 94891112816
Option 11D : 94891151262
Option 2 ID : 94891151264
Option 31D : 94891151261
Option 4 ID : 94891151263
Status : Answered
Chosen Option : 3




Q.59 In a certain code language, MORE is written as NRWL. How will FOUR be written as in that language?

Ans  of 1. GRZY

X 2 GPYZ
X 3. GRYZ
X 4 GZRY
Question ID : 94891112776
Option 11D : 94891151102
Option 2 1D : 94891151104
Option 31D : 94891151103
Option 4 1D : 94891151101
Status : Answered
Chosen Option: 1
Q.60 select the Venn diagram that best represents the relationship between the following classes.
Parasites, Lice, Deer
Ans
J 1A @
X 2. @
x 3- .
x 4. .
Question ID : 94891112798
Option 11D : 94891151192
Option 2 ID : 94891151190
Option 31D : 94891151191
Option 4 ID : 94891151189
Status : Answered
Chosen Option : 1




Q61 golve the following:

79 + [37-{45- (1-36 = 6 X 8)}] =2

Ans X1 41
<2 59
V3 24
<4 33
Question ID : 94891113548
Option 11D : 94891154189
Option 2 ID : 94891154192
Option 31D : 94891154191
Option 4 1D : 94891154190
Status : Answered
Chosen Option: 3
Q.62 The cost price of 12 oranges is equal to the selling price of 9 oranges and the discount on 10 oranges is equal to the
profit on 5 oranges. What is the percentage of discount (correct up to 2 decimal places)?
Ans of 1. 11.11
< 2. 33.33
< 3 16.67
X 4 44.44
Question ID : 94891113560
Option 11D : 94891154237
Option 2 ID : 94891154239
Option 3 1D : 94891154238
Option 4 1D : 94891154240
Status : Marked For Review
Chosen Option : 3
Q63 The traditional weave of Gujarat is known as
Ans o 1. Patola
#< 2. Tussar
/< 3. Kanjeevaram
#< 4. Jamdani
Question ID : 94891112809
Option 11D : 94891151236
Option 2 ID : 94891151233
Option 31D : 94891151235
Option 4 1D : 94891151234
Status : Marked For Review

Chosen Option : 1




Q.64 In a parallelogram PQRS, P = (-1, -1), Q =(8, 0) and R = (7, 5). What are the coordinates of *S'?

Ans
7
1.1-2 —)
x(-2.2
3
X2 (-4
x 3. {_1: 4)
(=2, 4)
Question ID : 94891113569
Option 11D : 94891154275
Option 2 ID : 94891154276
Option 3 ID : 94891154273
Option 4 ID : 94891154274
Status : Answered
Chosen Option : 4
Q.65 Select the INCORRECT pair of State and its Chief Minister (as of March 2021) from the following.
Ans o 1. Mr. Bhupesh Baghel — JTharkhand
#< 2. Mr. Manohar Lal Khattar — Harvana
/< 3. Mr. Pinarayi Vijayan — Kerala
7< 4. Mr. Pramod Sawant — Goa
Question ID : 94891112828
Option 11D : 94891151312
Option 21D : 94891151311
Option 31D : 94891151310
Option 41D : 94891151309
Status : Marked For Review

Chosen Option :

1

Q66 T which state is the ‘Badampahar’ iron-ore mine located?

Ans o 1. Odisha
/< 2. Karnataka
< 3. Madhya Pradesh

/< 4 Maharashtra

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112823
94891151292
94891151290
94891151289
94891151291
Answered

1




Q.67 The ‘Amar Jawan Jyoti’ (Flame of the Immortal Soldier) was installed at the in January 1972.

Ans X" 1. Wagah Border

/< 2. Jaisalmer War Memorial
v 3 India Gate
/< 4. Gateway of India

Question ID : 94891112808
Option 11D : 94891151230
Option 2 ID : 94891151232
Option 31D : 94891151231
Option 4 1D : 94891151229
Status : Answered
Chosen Option : 3

Q.68 A milkman mixes 10% water in pure milk but he is not content with it. So, he again mixes 10% more water in the
previous mixture. What is the profit percentage of milk if he sells it at cost price?

Ans x 1. 20%

X2 12.1%
3 21%
X 4 11.11%
Question ID : 94891113554
Option 11D : 94891154214
Option 2 ID : 94891154215
Option 31D : 94891154216
Option 4 ID : 94891154213
Status : Answered
Chosen Option : 3
Q.69 e 3 e+d
If—=1+-,then =7
d 4 c—d
Ans x 1.7
27
. 4
K3
3
. |
p
4
Question ID : 94891113552
Option 1 ID : 94891154207
Option 2 ID : 94891154206
Option 3 ID : 94891154205
Option 4 1D : 94891154208
Status : Answered
Chosen Option : 2




Q.70

Who among the following is known as the ‘Meera of Modern India’?

Ans 1. Mahasweta Devi
/< 2. Ashapoorna Devi
' 3. Mahadevi Verma
« 4 Kamala Das

Question ID : 94891112804
Option 11D : 94891151214
Option 2 1D : 94891151213
Option 3 1D : 94891151215
Option 4 1D : 94891151216
Status : Marked For Review
Chosen Option: 3
Q71 The Microsoft Corporation was founded at in 1975.
Ans 1. Albuguerque, New Mexico, United States
#< 2. Cupertino, California, United States
/< 3. Nihonbashi. Tokyo, Japan
/< 4. Bellevue, Washington, United States
Question ID : 94891112838
Option 11D : 94891151349
Option 2 ID : 94891151351
Option 3 1D : 94891151350
Option 4 1D : 94891151352
Status : Answered
Chosen Option : 4
Q72 The Pittsburgh industrial region is located in:
Ans X 1. England
/< 2. Japan
« 3 the United States of America
/< 4. Germany
Question ID : 94891112824
Option 11D : 94891151294
Option 2 ID : 94891151296
Option 31D : 94891151293
Option 4 ID : 94891151295
Status : Marked For Review

Chosen Option :

1




Q.73 During his morning walk, Vidhyanshu faced towards the sun and walked a few kilometres. After some time, he turned to
his right and walked 5 km. Then, he again turned to his right and continued walking. Finally. in which direction was

Vidhyanshu moving?

Ans 1. North

2. West
/< 3. East
< 4 South
Question ID : 94891112800
Option 11D : 94891151197
Option 2 ID : 94891151200
Option 31D : 94891151199
Option 4 ID : 94891151198
Status : Answered
Chosen Option : 2
Q.74 5[ 32
The value of ,E is :
Ans 2
vz
3
. 5
- N
2
. 3
53z
2
. 5
K4 Z
3
Question ID : 94891113564
Option 11D : 94891154254
Option 2 ID : 94891154256
Option 3 ID : 94891154255
Option 4 ID : 94891154253
Status : Answered
Chosen Option: 1
Q75 Which of the following is NOT a part of our solar system?
Ans X 1. Europa
< 2. Moon
' 3 Pole Star
< 4 Sun
Question ID : 94891112812
Option 1 ID : 94891151247
Option 2 ID : 94891151248
Option 31D : 94891151246
Option 4 ID : 94891151245
Status : Answered
Chosen Option : 3




Q.76 The best-known pastoral and hunter-gatherer tribes, the ‘Mongols’, inhabited
Ans o 1. Central Asia

#< 2 Arabian Peninsula

/< 3. South Asia

« 4 South-East Asia

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112822
94891151286
94891151287
94891151288
94891151285
Marked For Review
1

Q.77 Out of the four numbers given, three are alike in some manner and one is different. Select the number that is different

from the rest.

169, 289, 144, 356

Ans  of 1. 356
< 2 144
< 3 169
< 4 289

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112788
94891151151
94891151152
94891151150
94891151149
Answered

1




Q.78 select the Venn diagram that best represents the relationship between the following classes.

Rivers, Lakes, Mountains, Water bodies

e
6O

[/

>

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112796
94891151183
94891151182
94891151181
94891151184
Answered

3

Q.79 Select the option that is related to the third term in the same way as the second term is related to the first term.

Mason : Builds : : Mechanic : ?
+ . Repairs
& 2 Tools
/< 3. Factory
< 4 Cars

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112794
94891151176
94891151175
94891151174
94891151173
Answered

1




Q80 1fg + b + ¢ = 5and & +b°+¢* =29, then the value of ab + bc + ca =?

Ans x |
<21
X3 2
v 2
Question ID : 94891113567
Option 11D : 94891154266
Option 2 ID : 94891154265
Option 3 ID : 94891154267
Option 4 ID : 94891154268
Status : Answered
Chosen Option : 4
@81 Which satellite was launched by PSLV-C51 on 28 February 20217
Ans X1 IRS-2
& 2. SROSS-C
+ 3 Amazonia-1
< 4 Landsat-3
Question ID : 94891112831
Option 11D : 94891151321
Option 2 ID : 94891151324
Option 31D : 94891151322
Option 4 ID : 94891151323
Status : Marked For Review

Chosen Option :

1

Q.82 WWho led the East India Company’s army during the Battle of Plassey in 17577

Ans o 1. Robert Clive
/< 2. William Babington
#< 3. Robert Bowles
/< 4. Charles Boys

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

94891112820
94891151280
94891151277
94891151278
94891151279
Answered

Chosen Option: 1




Q.83

If x = 3cosAcosB,y = 3cosAsinB and z = 3sind, find the value of x* + y* + z°

Ans x 1. 12
X< 26
<33
vi09
Question ID : 94891113572
Option 11D : 94891154288
Option 2 ID : 94891154286
Option 3 ID : 94891154285
Option 4 ID : 94891154287
Status : Not Answered
Chosen Option : --
.84 "
Q If 2(cos B + secB ) = 5, what is the value of sec?8 + cos’8 ?
Ans 1 ';‘r
Y Gl
4
. 5
x22
4
. 25
p < R
2
| 4
p R
17
Question ID : 94891113570
Option 11D : 94891154277
Option 2 ID : 94891154279
Option 3 1D : 94891154278
Option 4 1D : 94891154280
Status : Marked For Review

Chosen Option :

2




Q.85

40 ; ;
Express — o, sa rational number whose numerator is —5.

Ans 5
0 1. e
1
5
W2 oo
7
X _3
8
X 2
6
Question ID : 94891113547
Option 11D : 94891154187
Option 2 ID : 94891154186
Option 3 ID : 94891154185
Option 4 ID : 94891154188
Status : Answered
Chosen Option : 2
Q.86 Study the following table and answer the question that follows.
Rate of Employment (in percent) at Various Levels across 4 years
Year | Primary level | Secondarylevel | Higher level | Total
1995 | 15 12 15 42
2000 | 20 18 20 58
2005 | 25 20 10 55
2010 | 30 25 15 70
Which of the following statements about the rate of employment at various levels is NOT true?
Ans « 1.
The ratio of the rate of higher level employment to the total employment rate was the same in 1995 and 2010.
X 2
The highest rate of secondary level employment was in 2010.
7% 3. The lowest rate of primary level employment was in 1995.
/< 4. The lowest rate of higher level employment was in 2005.
Question ID : 94891112789
Option 11D : 94891151155
Option 2 ID : 94891151154
Option 31D : 94891151153
Option 4 1D : 94891151156
Status : Answered
Chosen Option : 1




Q.87 The given table presents the marks obtained by a student in various subjects in the first term and second terms, out of
hundred in each test.

Subject [English [Hindi [Mathematics Science Social science
[Marks obtained in first term 65 70 88 82 71
[Marks obtained in second term | 67 68 94 85 75

In which subject did the student improve his performance the least?

Ans 1. Hindi
/< 2. Science
+ 3. English

/< 4. Social science

Question ID : 94891112790
Option 11D : 94891151157
Option 2 ID : 94891151159
Option 31D : 94891151158
Option 4 1D : 94891151160
Status : Answered
Chosen Option : 3

Q.88 The given circle graph shows the spending (in ¥ lakhs) of a private hostel on various expenses during a particular
year. Answer the given question based on the circle graph.

Entertain
ment, 39°

Extra
Expenditure, 64°

s i
Electricity, 42 Security, 557

Maintenance
charge, 58°

If the total expenditure incurred by the hostel during the vear was 50 lakhs, then how much was spent
on maintenance charges and security together (approximately)?

Ans 1. 4] Lakhs
< 2 8 Lakhs
< 3. 21 Lakhs
« 4 16 Lakhs

Question ID : 94891112791
Option 11D : 94891151162
Option 2 1D : 94891151164
Option 31D : 94891151161
Option 4 ID : 94891151163
Status : Marked For Review
Chosen Option : 1




Q.89  study the given bar graph showing the total number of different types of electronic devices P, Q. R. S and T
units) imported by a company in 2017 and 2018 and answer the question that follows.

TYPES OF DEVICES

0 10 20 30 40
NO OF UNITS IMPORTED ( IN LAKHS)
. 2017 T 2018

From 2017 to 2018, which of the following types of devices had the maximum percentage change (increase or

decrease) in the number of imported devices?

Ans  of 1T
X2p
X3 R
X4 S

(in lakh

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112792
94891151166
94891151165
94891151167
94891151168
Answered

1

Q.90 study the given pattern carefully and select the letter from the given options that can replace the question mark (?) in

it.

B 00 [0 E
i B 3 B 2 g d R

Ans 1 F
K2 A
K3 M
v E

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

194891112799
194891151195
194891151193
194891151196
194891151194
: Answered

)




Q.91 Four letter-pairs have been given, out of which three are alike in some manner and one is different. Select the letter-
pair that is different from the rest.

Ans X1,
X 2
v &3
5 4

ZE
JO
WC
NS

Question ID :
Option 11D :
Option 21D :

Option 3 ID
Option 4 ID
Status

Chosen Option

94891112793
94891151170
94891151169

194891151172
194891151171
: Answered

03

Q.92 Ifina certain code language, A is written as 1 and AIR is written as 28, then how will AIRCRAFT be written as in that

language?
Ans X 1. 80
<278
V'3 76
<4 82
Question ID : 94891112778
Option 11D : 94891151111
Option 2 ID : 94891151112
Option 31D : 94891151110
Option 4 ID : 94891151109
Status : Answered
Chosen Option : 3
Q.93 Ina certain code language, FEATURE is written as HICXWVG. How will ALMOST be written as in that language?
Ans  of 1. CPOSUX
X 2. CPOSWX
X 3 CNQQWX
< 4 CNQSWX
Question ID : 94891112779
Option 11D : 94891151113
Option 21D : 94891151116
Option 31D : 94891151114
Option 4 1D : 94891151115
Status : Answered
Chosen Option : 2




Q.94 Without assuming anything beyond the given information, select the correct nature of relationship between the two
events A and B.

Event A: Philips joined a gym recently.
Event B: Philips has been looking a lot fitter now.

Ans 1. A s the effect and B is its immediate and principal cause.

X 2

B is the effect but A can never be its immediate and principal cause.

X 3

A is the effect but B is not its immediate and principal cause.

« 4 B is the effect and A is its immediate and principal cause.

Question ID : 94891112781
Option 11D : 94891151121
Option 21D : 94891151124
Option 31D : 94891151123
Option 4 1D : 94891151122
Status : Answered
Chosen Option: 1

Q.95 Study the given pattern carefully and select the letter from the given options that can replace the question mark (?) in
it.

=

=
w
Z

o

Ans XL

X
v 7 g

Question ID : 94891112803
Option 11D : 94891151211
Option 2 1D : 94891151212
Option 31D : 94891151209
Option 41D : 94891151210
Status : Answered
Chosen Option: 3




Q.96 Select the number from among the given options that can replace the question mark (?) in the following series.

123, 267. 436, 632, 2

Ans X 1.923
v 2 857
< 3 797
X 4913
Question ID : 94891112782
Option 11D : 94891151126
Option 2 1D : 94891151125
Option 3 1D : 94891151127
Option 4 1D : 94891151128
Status : Answered
Chosen Option : 2
Q.97 Three different positions of the same dice are given. Which number will be on the face opposite to the face with the
number ‘2°?
3 3
3 4 2
Ans  of 1 3
<24
K35
<46
Question ID : 94891112802
Option 11D : 94891151207
Option 2 ID : 94891151206
Option 3 1D : 94891151205
Option 4 1D : 94891151208
Status : Answered
Chosen Option : 1
Q.98 study the given pattern carefully and select the number from the given options that can replace the question mark (?)
in it.
Ans
Question ID : 94891112787
Option 11D : 94891151145
Option 2 ID : 94891151147
Option 31D : 94891151148
Option 4 1D : 94891151146
Status : Not Answered

Chosen Option :




in it.
49 36 2
413 214 513
Ans X136

~< 2 81

X416

Q.99 Study the given pattern carefully and select the number from the given options that can replace the question mark (?)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112784
94891151133
94891151136
94891151135
94891151134
Not Answered

Ans 1. Sumit
< 2 Arun
« 3. Pankaj
#< 4 Surendra

Q.100 ©On the basis of the top five students’ result analysis, a class teacher found that Lokesh and Sumit are good in Insurance
and Banking: Arun and Lokesh are good in Accounts and Banking: Arun, Pankaj and Surendra are good in Economics
and Accounts; Surendra and Arn are good in Geography and Accounts; and Pankaj and Sumit are good in Economics
and Insurance. Who is good in Insurance, Accounts and Economics?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112801
94891151202
94891151203
94891151201
94891151204
Not Answered
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